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ECONOMICS

Paper : ECO-RC/HG-1016

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore fAIRT ot SR e fin

() What is scarcity?
el 2

(b) Mention the law of supply.
e R Seas 701

(c) What is cross elasticity of demand?
v S ool 2
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(2)

(d) Define marginal utility.
o Seafirer sicen fm |

(e) Can two isoquants cut each other?

TORT FHERATA (IR FO TR eI ?

() What is a production function?
Teefe Fo 2

(g) “All costs become variable in the long
run.”

( Write True or False)
‘RdPrETS SPCe AR ARG =7 1
(351 & fg foran )

(h) Draw the total fixed cost curve.

P 3 W @ o |

(i) Mention one assumption of perfect
competition.

o 2fSeafoR «bl e Teay =1 |
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(3)

() “A firm under perfectly competitive
market earns supernormal profit in the
long run.”

( Write True or False)

“opf afScaiTorEre TeRT IR AfH Q¥
TS SR S SeE F9 1”7

(31 ¢ Ty o )

2. Answer the following questions : 2x5=10

o fi erpTRe e fam

(a) Ilustrate the slope of a production
possibility curve.

TAMA SR ({1 IOE] G 01 41 |

(b)) What do you mean by price rationing?

Price rationing 3feical & @12

(c) What is an isocost line?
R (912
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(4)

(d) Mention the conditions of equilibrium of

a firm.
G TP AP SRAMOR SEFR0l S
FI

(e) What is a shut down point?
e I [ 6 2

3. Answer any four from the following

questions : 5x4=20
were il 2easd R e st Tas forn
(a) What are the determinants of demand?
Explain.
iR Rz & & 2 v
(b) Explain the concept of consumer’s
surplus.
(SIS Tgeq {REIICOT M 1 |

(c) Explain the Diamond-water paradox.

R1-we Rt arm 391

(d) Distinguish the concepts of economies
and diseconomies of scale.

TR el oo sficuficn (RINIRHR
NefT foran |
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(5)

(e) What is budget constraint? Draw a
budget line and explain its slope. 2+3=5

e A4 7 GO IWHG @A JAFA IR O/
B1e TR 0

() Explain short-run equilibrium of a firm
under perfect competition.

of ARRER wRfe IPH AW 93/
A STl I 4 |

4. Answer the following questions : 10x4=40
TS il PRy Ted fdl -

(a) Discuss the law of demand. When does
a demand curve shift upward or

downward? 7+3=10
viRm RRG wcapal ¥4 o @1 9o
ST 8o e 1 TALe S I} ?

Or / q%dr
What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10
s W TR R TR Rz
% 2 sCeAe 390
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(6)

(b) Discuss how demand curve is derived
from indifference curve and budget
constraint. 10

BT @ WF ICE I o[ R wifa
@ Sfeea =g, SEnAl 90 |

Or / 941

Discuss the properties of indifference
curves. 10

RTCr® @AY GORR Sl 41 |

(c) Critically discuss the law of variable

proportions. 10
JReSe were RE SEEm SR
el 991 |

Or / 9[1

Discuss the cost minimizing equilibrium
condition with the help of isoquant and
isocost line. 10

IO ([ HF TRE RIR S |/
TERFFIR SR 5 SICALA F4 |

(d) Discuss the long-run industry supply
curve under perfect competition. 10

of fdfor TrmeR TERT @R @
AT 3 |
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(7))

Or / |1

Explain how resources are adequately
allocated in production under perfect
competition. 10
qf ofTaieTe TeARAS PR X0
Rega e =, I FA

* % %k
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